I
cCMET 3Bs0O ’ Quiz # 3 | F2o02

Show all worlc F'DY Pt CXG‘::!‘—[? ALL Cun_s'eﬁ are. + be
measured cew bown a4 x-adis . Al vechy arswers et 4o be
__PQSF%vt Scaler, frse  HlivecPoin

Neme_ Solvhou

[l De--)—emev\-L.. "FLL Ma/ul'}vde_ /dlvec,‘!‘t'oﬂ/ aupl lDC.a:‘)éion g+
e Resvlbund for +2 forces QCJ!MS onn . ppeanrs Shownl
TN 100 o

7;ﬂ§ 56 lb
)]
C :
H i— L ; “ ' i ,.B
_ﬁ% EXT= 4+ [ Y | 7?77_
' 9+ | 64"*—% —67{/4-__3
Solx)'f'\'oh. 7< ' Q
Maqnv}wle_ ccw +W
| cw-M Q)
R)(:: EFX =0

Ryz £Fy= —180lp ~sPIb = =230 b= 230 1b v
R=2320 |b

DlYec"‘iDV\

©=270° or Y

Locahon
Ry = €My
= 120t (pH) + sPlb (15H)
230 lb
= 1830ttt = g £ 4 He y.ju‘#ﬂ,ﬂr
230k

/th;;b WV locaked 3 # 4 tue n‘\&_o{ pont A]






